
CU.2300L

Ver 2.53

Product Parts Breakdown
Specify Finish

RP70773
1/2” Female NPT
Connector
With O-Ring

RP70774
Connector

RP50205
Hex Screw
M3x0.5

RP50187
Hex Screw
M5x0.8

RP50205
Hex Screw
M3x0.5

Hex Screw
M3x0.8

RP60139
O-Ring

RP30182
Aerator Key

CU.2300-2553
Wall Flange

RP30289 - 02.3205.00000
1.2 GPM Aerator


